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QUESTION 1

You are implementing a Virtual Chassis Fabric using QFX5110 devices. 

Which two statements are true in this scenario according to Juniper Networks recommendations? (Choose two.) 

A. Spine devices must assume the RE role. 

B. Leaf devices must have a direct link to all other leaf devices. 

C. Spine devices must assume the line card role. 

D. Leaf devices must have a direct link to all spine devices. 

Correct Answer: AD 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, what must you change to make the topology a supported Virtual Chassis Fabric design? 

A. Change the Routing Engine to a line card. 

B. Remove one leaf node. 

C. Add a second spine node. 
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D. Change one of the line cards to a VCP master instance. 

Correct Answer: C 

 

QUESTION 3

You are designing an IP fabric using EBGP. 

In this scenario, what are two ways of designing the ASN scheme for the IP fabric? (Choose two.) 

A. Assign the same ASN to all devices. 

B. Assign the ASN to all leaf devices and a separate ASN to all spine devices. 

C. Assign a unique ASN to each individual device. 

D. Assign the same ASN used by the WAN service provider to the spine devices. 

Correct Answer: CD 

 

QUESTION 4

What would you use to balance traffic loads between servers in a Clos Layer 3 data center fabric? 

A. MC-LAG 

B. multicast protocols 

C. ECMP routing 

D. BGP export policies 

Correct Answer: C 

 

QUESTION 5

Which two statements are true about IP fabrics? (Choose two.) 

A. IP-based applications do not require an overlay network to maintain connectivity. 

B. Applications that require security needs an overlay to provide the security. 

C. Applications that require Layer 2 adjacencies require an overlay network to maintain connectivity. 

D. IP fabrics can natively support both Layer 2 and Layer 3 applications. 

Correct Answer: CD 
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